CE 524: Air Pollution

Meteorology Assignment A3
Problems: 3.7, 3.9 and 3.14
Due February 3
3.7:  The wind has a velocity of 10 m/hr at 10 m in a rural area.  When lapse rate is 0.2°C/100, what is the velocity at an elevation of 100 m in miles per hour?
3.9:  Consider that the wind speed u is 2 m/s at a height of 10 m.  Estimate wind speed at a) 200 m and b) 300 m for the 6 stability classes in Table 3-3 for rural conditions.

3.14:  In a given situation the ground-level air temperature is 15° C, while the normal maximum surface temperature for that month is a) 26°C and b) 24°C.  At an elevation of 300 m, the temperature is found to be 21°C. What is the maximum mixing depth in meters for the two cases?

